M - 107 (SEMESTER 1, 1439 -1440) SECOND MID-TERM EXAM

Question: 1. (a) Find the equation of plane containing lines
[6+6-+6] Lt x=142f, y=4, z==1%2, icR
Ly: x=-142s, v=2+25, z2=1435, seR
(b) Find the equation of line passing through points P(2, 1, -3) and Q(5, -1, 4).
At what point this line intersects xz — plane.

(¢) Identify the surface 36x° +91° — 162" = 144 ,

Find its traces on the coordinate planes and sketeh the surface.
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Question: 2., (a) Given vectors

(6+6+6) a= <L Ll1>and b= <3,0,5>. Find

() Comp,*
t. 1.1-) i)l'()jhd
(b) Find the distance of point B(- 1,5,2) from the line through points

A0, 1, 2) and C2,4,0).

(¢) Find parametric equation of the tangent line to the curve

x=1 =1, v==t"+3 z=1-2 atpoint A(0,2,-1)
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§
I Question: 3. (a) Let the veloceity be (1)

=COSH A+ (1" 1) j+ 'k,
Sh Find the position vector r(t) such that 7(0) =7+ j+4.

(b) The position veetor
posttion vector of moving particle at time t is

(1) =<2sint, 2cost, 4t>

Find the tangential and

the g . )
¢ normal components of acceleration and the curvature at ¢

L PO | _
S (“") N4 - ‘

i(&-si‘t ~ (& )y fet(«_)d{l

@ = (ﬁlV\k +C\> ( E§ Ef‘, e (c J'__L?)k
NLRY = L f»kht\L
s ""X”CV‘- - = +LL1*(HC“S)V— - <y :\j LL:LJ (3= 4@

TOEY - (St 1-'&) Lo+ ( €3
5
(2)

-—t't'\)j' -+ et !’(
YOt) = <ol ) 2ot &b

X (k- Lrcost, —2 ant, Uy

il
Yo o L g , — 2t oS

Y

~4 gt Calt + z_r Svn b Cozt = 0
“{Lkl L‘{ﬂ“(J - t J .
@ 2¢hl —25wmr 4 = — % (g !'L: = gS\M\j -l by .
- LSwm(- —L b o ;
At b= T Y(m ) ,p("(g[\
UL ) ey em )y (ea>is = (5
WJCE_1
L) = < UJ _LJ ('(7
: E ned ‘ 1 6<IFZJ = (L(*lb :f!a-?
b a\_r aCER) XL g
: ' R AT o )
8 { J Vo 2
@ 2. o :“_;lH(LL) L-‘—If—}——m!u :,\]' — {z. Jx -2
RIRTE T o ¢EY 0 4

K/ = WL)M'(TT)\ e ’\1’»‘\‘7 -4
G WRIEL o VB

Scanned by CamScanner~




